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TVC sigma (RMS) (c,b,ch)=(0,3,0)

T T
14 -
12 -1
il "'I.|_|-_rl—L|'IJ-L"LI'I-._r|_I"-t
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,4)

TVC sigma (RMS) (c,b,ch)=(0,3,8)

TVC sigma (RMS) (c,b,ch)=(0,3,12)

TVC sigma (RMS) (c,b,ch)=(0,3,1)

16 M -

14 -

12 -

TVC sigma (RMS) (c,b,ch)=(0,3,5)

12 =1

TVC sigma (RMS) (c,b,ch)=(0,3,9)

14} E

TVC sigma (RMS) (c,b,ch)=(0,3,13)

T T
14f E
12 B
P _,_,.._|--l'!_|-|_,-.J'L|_,_|'|.|_|_._:-._._,..:
50 T00

TVC sigma (RMS) (c,b,ch)=(0,3,2)

~ T T

161 E
14 E
12| —
W+ 4

[ HrfLJ_LnJ‘H__l"Lﬂ_rIJ-

L ) L ]

50 00

TVC sigma (RMS) (c,b,ch)=(0,3,6)

16

14

12

%

1
100

ol
S

TVC sigma (RMS) (c,b,ch)=(0,3,10)

14

12

;

1
100

o
ol
S

TVC sigma (RMS) (c,b,ch)=(0,3,14)

16 T T
14 E
1.2 -1
Tt W
1 1 1 1 1 1 1 1 1 1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,3)

14 —

ol M g

| 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,3,7)

TVC sigma (RMS) (c,b,ch)=(0,3,11)

T T
14} -
12 -1
I W‘L

1 1

50 100

TVC sigma (RMS) (c,b,ch)=(0,3,15)




TVC sigma (RMS) (c,b,ch)=(0,4,0)

TVC sigma (RMS) (c,b,ch)=(0,4,4)

16 T T

TVC sigma (RMS) (c,b,ch)=(0,4,8)

TVC sigma (RMS) (c,b,ch)=(0,4,12)

TVC sigma (RMS) (c,b,ch)=(0,4,1)

T T
14 -
12 -1
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,5)

16 T T =

14 -

TVC sigma (RMS) (c,b,ch)=(0,4,9)

14f -

TVC sigma (RMS) (c,b,ch)=(0,4,13)

16 T T
14 B
12 -
£ ]
08'|.I"-"'J''‘"''|_,-,__|‘'-|.rL._|'l-_,_|-|"'|_|"-|_,-F
L L L L 1 L L L L 1 L
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,2)

14 -1

12 -

TVC sigma (RMS) (c,b,ch)=(0,4,6)

16f - T T B

14 -

12 -1

TVC sigma (RMS) (c,b,ch)=(0,4,10)

14 -1

12 -1

TVC sigma (RMS) (c,b,ch)=(0,4,14)

1.4 -1

12 =1

TVC sigma (RMS) (c,b,ch)=(0,4,3)

T T
14l E
12p -
i -
ooy Lﬁfﬂﬂt

1 1

50 100

TVC sigma (RMS) (c,b,ch)=(0,4,7)

14f E

TVC sigma (RMS) (c,b,ch)=(0,4,11)

T T

14 -

12 -

1 1 1 -
50 100

TVC sigma (RMS) (c,b,ch)=(0,4,15)

14 B

12 -1

[oX:] S U R




TVC sigma (RMS) (c,b,ch)=(0,5,0)

16 T T

TVC sigma (RMS) (c,b,ch)=(0,5,4)

TVC sigma (RMS) (c,b,ch)=(0,5,8)

T T
16 M -1

TVC sigma (RMS) (c,b,ch)=(0,5,12)

] Il

TVC sigma (RMS) (c,b,ch)=(0,5,1)

T T
16 n
14}
12
1k
08k I I
50 100

TVC sigma (RMS) (c,b,ch)=(0,5,5)

16F - T T B

14 -

12f -

1l nry 1

1__...-"“— 1 I ]
50 00

TVC sigma (RMS) (c,b,ch)=(0,5,9)

14

12

TVC sigma (RMS) (c,b,ch)=(0,5,13)

12

TVC sigma (RMS) (c,b,ch)=(0,5,2)

14

12

%

g
=
)
9
3

TVC sigma (RMS) (c,b,ch)=(0,5,6)

14 =1

12 -1

TVC sigma (RMS) (c,b,ch)=(0,5,10)

F T T 3
1.4 -1
12~ -
1 =L|-|_L'J- _|--|.I'|-._|---J'|-"'"""-"‘—|_I_LI'"'=
L | 1 g

0 50 100

TVC sigma (RMS) (c,b,ch)=(0,5,14)

14 -1

12 -

TVC sigma (RMS) (c,b,ch)=(0,5,3)

T T
161 N E
14 -
12 -1
1L I I ]
50 T00

TVC sigma (RMS) (c,b,ch)=(0,5,7)

1.4 T T

13fF -1

12F -1

11 N

TVC sigma (RMS) (c,b,ch)=(0,5,11)

T T
14 —
12f 1
W ]
08f‘l.r-.l_l- w

1 1

50 100

TVC sigma (RMS) (c,b,ch)=(0,5,15)

T T
14} 4
12 -1
PR SRR SN T
50 100




TVC sigma (RMS) (c,b,ch)=(0,6,0)

16 T T
14 -1
1.2 =1
h W
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,4)

TVC sigma (RMS) (c,b,ch)=(0,6,8)

TVC sigma (RMS) (c,b,ch)=(0,6,12)

TVC sigma (RMS) (c,b,ch)=(0,6,1)

T T
14 E
12k -
+ ]
ol ’r|.|-|-L._I'L_L|'LL|J-L|-,_,-I"1.|'|_[

1 1

50 100

TVC sigma (RMS) (c,b,ch)=(0,6,5)

14 =

TVC sigma (RMS) (c,b,ch)=(0,6,9)

TVC sigma (RMS) (c,b,ch)=(0,6,13)

T T
14 E
12 =1
i ]
08-J"-|_.-r_|'-|_rn.r|..-l'|_|_|-"l.l'|_|-=...—-"t
L L L L 1 L L L L 1 L
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,2)

16

14

12

|

g
=
)
9
3

TVC sigma (RMS) (c,b,ch)=(0,6,6)

16 — T T 3
141~ —
12|~ —
1. 4
L 1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,10)

14 -

12 -

TVC sigma (RMS) (c,b,ch)=(0,6,14)

%

TVC sigma (RMS) (c,b,ch)=(0,6,3)

14f B

12 -1

08k L L 4

TVC sigma (RMS) (c,b,ch)=(0,6,7)

T T

14 —

12p -

1 | I n
50 100

TVC sigma (RMS) (c,b,ch)=(0,6,11)

T T
16 M -1
141 E
12 -1
W ]
T -|-|—-.-|_|"-"|_|"-L|-|_|_|-'—"Lr'—u-|_
08 1 1 -

50 100

TVC sigma (RMS) (c,b,ch)=(0,6,15)

T T
14f E
1.2F -
£ ]
oofl—rL 1_rL.JJL"r|_[""'-|—"I.r|1L.f
PR B
50 100




TVC sigma (RMS) (c,b,ch)=(0,7,0)

T T
16 M -1
14 -1
1.2 1
1 e _I'|_|'|_,.L|-"|_|_Lr'_,.l'|J-L_,_L|-|_:
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,4)

16F T T =

08 L q

TVC sigma (RMS) (c,b,ch)=(0,7,8)

TVC sigma (RMS) (c,b,ch)=(0,7,12)

16 T T

TVC sigma (RMS) (c,b,ch)=(0,7,1)

— T T

16 -

14 -

12 B

1 n

08l h h -
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,5)

16F ~ T T =
14 .
12 -1
+ ]
ok _..J1.|'|_|_,..-L|'|_,-._|'LUJ-L_|:“—-,:
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,7,9)

T T
1af .
12 E
1.L|_I"‘r Iu-|_|.LL|"-|.r'J-|_,.L|-|_|-LL|J_r"I:

1 1

50 00

TVC sigma (RMS) (c,b,ch)=(0,7,13)

12 -

TVC sigma (RMS) (c,b,ch)=(0,7,2)

T T
16f M E
14 -
12~ -
I+ 4
LA i

L | . ]

50 T00

TVC sigma (RMS) (c,b,ch)=(0,7,6)

16 T T =

14 -1

12 -

TVC sigma (RMS) (c,b,ch)=(0,7,10)

16

14

12

|

0.8

1
100

o
ol
S

TVC sigma (RMS) (c,b,ch)=(0,7,14)

14 -

12 -

TVC sigma (RMS) (c,b,ch)=(0,7,3)

16 T T =

14f E

12 -1

TVC sigma (RMS) (c,b,ch)=(0,7,7)

16F — T T 3

12 -1

0.8k L

TVC sigma (RMS) (c,b,ch)=(0,7,11)

1.2F 1

TVC sigma (RMS) (c,b,ch)=(0,7,15)

14 -1




TVC sigma (RMS) (c,b,ch)=(0,8,0)

TVC sigma (RMS) (c,b,ch)=(0,8,4)

16 T T

TVC sigma (RMS) (c,b,ch)=(0,8,8)

16f — T T B
14 E
12 1
L :
1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,8,1)

TVC sigma (RMS) (c,b,ch)=(0,8,5)

T T
14f -
12 g
W ]
% — ’W

1 1

0.6 50 100

TVC sigma (RMS) (c,b,ch)=(0,8,9)

TVC sigma (RMS) (c,b,ch)=(0,8,13)

14 =

TVC sigma (RMS) (c,b,ch)=(0,8,2)

1.4 -1

12 -1

TVC sigma (RMS) (c,b,ch)=(0,8,6)

14

12

|

1
100

ol
S

TVC sigma (RMS) (c,b,ch)=(0,8,10)

16

1.4

12

|

1
100

o
ol
S

TVC sigma (RMS) (c,b,ch)=(0,8,14)

14 -

12 -

TVC sigma (RMS) (c,b,ch)=(0,8,3)

T T
16 M -1
14 R
12f E
! r "'I.LI_rLrH_r'-J—|__,_I'Ln_IJ-L_

1 1

50 100

TVC sigma (RMS) (c,b,ch)=(0,8,7)

14 E

12pF -1

0.8 L

TVC sigma (RMS) (c,b,ch)=(0,8,11)

T T
161 n E
14} E
12| E
1 ]

1 1

50 00

TVC sigma (RMS) (c,b,ch)=(0,8,15)

T T
14l E
12 1
s ]
o8fF vy T
50 T00




TVC sigma (RMS) (c,b,ch)=(0,9,0)

16 T T
14 1
12 -1
T L I S T
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,4)

TVC sigma (RMS) (c,b,ch)=(0,9,8)

T T
14 -1
12~ -1
e
1
1 1
0 50 100

TVC sigma (RMS) (c,b,ch)=(0,9,12)

TVC sigma (RMS) (c,b,ch)=(0,9,1)

T T
14F -
12 -
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,5)

16 T T
14 -
12 -
L ]
sk "'|.|_|'LI"I|__|-|_|-,_,—._.-._|--L|'|_|'|-:
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,9)

16 T T

12 -1

TVC sigma (RMS) (c,b,ch)=(0,9,13)

12 -

TVC sigma (RMS) (c,b,ch)=(0,9,2)

16 T T

14

12

|

TVC sigma (RMS) (c,b,ch)=(0,9,6)

12~ -

TVC sigma (RMS) (c,b,ch)=(0,9,10)

16 M

14

1.2

5

TVC sigma (RMS) (c,b,ch)=(0,9,14)

E T T =
161 E
14 E
12| E
L. . vy,

50 100

TVC sigma (RMS) (c,b,ch)=(0,9,3)

T T
14F -
12 -1
h J'IJ-L"LI'rl.r-"Lr""l_.-l-‘-LrLrL:
1 1
50 100

TVC sigma (RMS) (c,b,ch)=(0,9,7)

15 -1

'I_IJ"-L_,-.J_"""'LFL..r"'-'ILr"L._...-'"

TVC sigma (RMS) (c,b,ch)=(0,9,11)

T T
16 M -

12F -1

TVC sigma (RMS) (c,b,ch)=(0,9,15)

14} E

o8k o
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